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haruka@asura®:~/Al/kyouguchi_mc> ruby mc_multi_new.rb
BEEANLTSLEZN

2.1

HITEMEAALTEZ L.

10

BEEMOLRE, RFMERICHISLETANLTIES .
8.1

ARICRFEZHOTHEEADLTIES .

4

Your job 77938 ("vasp-job") has been submitted

"wait 1min"

"find"

“check2"
HiRE: 0.20000

Y Im

EHHR M (sec):14075.98983
haruka@asura®:~/Al/kyouguchi_mc> cat e_change.txt
s o7
-119.076339
e

NEIX - |

/Users/shuhei/Desktop/kyouguchi_mck ruby mc_multi.rb =
BEEAALTILEEN

8.1

BITEBEAALTILEZL.

10

BEEMO LRE, RFHERICHTAHLETANLTIZZL.
8.1

FRICRFEBMPTHEADLTILESN.

4

#iR%E:  0.20000

FHHEESM(sec):  1.05894
/Users/shuhei/Desktop/kyouguchi_mc¥ cat e_change.txt

-31.7577335
-31.5375474

g

(b)

0 4.1: (a) trueVASP 000000 (b) pseudoVASP 0000000
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gogobobbobbouooooobbobbbuooooooobbobbougd
gobbooood

pseudoVASP OO0 NVT-MC OOOODOOOOD DOODOOOO mono
gbobooboobooboboobooooo4booob muti D000 0O00O0O
gbbboobuobodgbgbogboboboobbooboobboooobd
gogbobbbbbooooooobbbbbboooooobbbbooooobn
0000000000000 00DO0O0DOO0O0O00 trueVASP ODOO NVT-MC
ggobbbbboooooobbbbbbooooobbbbooooood
ooooNVI-MCOOODOOOOOODODODODOOO

O00OpseudoVASP OO0 NPT-MCOOOOOOOODDOOOOO pseu-
doVASP OOOOOOOUODOOODOODOODOOOOOOOODOODOOODO
ggbbbuoooobbbuoooobbboooobbboooobbbo
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L] [

gogobboobbooogobbobbodooooobboobooooooon
gbbuodgbbuoobbbbuoobbodobb bboob obobodoboboobo
gogoobbbbbtbdodoooooooooooboobbbooooood
ggobbbbbouooooobbbbbbooooobbbboboooood
gogbbobuooouoooobbbogoobbogao
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el OO

6.1 U0O0O0OOO

oo0ooooogo NVT-MCO NPT-MCUOOOODOODODOO

6.1.1 NVT-MC

Nvr-MCOOOOOoooooooooooooooooooboooooooo
gogbboboooobbboooobbboodono

\begin{enumerate}

\item -*- coding: utf-8 -*-
\end{enumerate}

include Math

require "pp"

\begin{enumerate}
\item order
\end{enumerate}

puts "UOodooooooog”
T=gets.chomp.to_£f

puts "Uoodoooooooooo:”
n_max=gets.chomp.to_i

puts "OO0OO0OODOODOOOOODOOOODOODODObOOOOOOg
$d_max=gets.chomp.to_f

puts "OO0O0O0OO0OODOOOOOOOOOOOO
$n_multi=gets.chomp.to_i

start = Time.now #U 00O

n_arng = []
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def get_volume
vec_a = []
vec_b = []
vec_c = []

vec_a=$poscar_text[2] .split(nil) #0000 OO
vec_b=$poscar_text[3] .split(nil)
vec_c=$poscar_text[4] .split(nil)

a_x = vec_al[0].to_f
a_y = vec_al[l].to_f
a_z = vec_al[2] .to_f
b_x = vec_b[0].to_f
b_y = vec_b[1].to_f
b_z = vec_b[2].to_f
c_x = vec_c[0] .to_f
c_y = vec_c[1].to_f
c_z = vec_c[2] .to_f

volume=(a_x*b_y*c_z)+(a_y*b_z*xc_x)+(a_z*b_x*c_y)
-(a_x*b_z*c_y) - (a_y*b_x*c_z)-(a_z*b_y*c_x)
return volume
end

def get_distance #JU U DU DUOUOUUOODDOOOOO
r_3=(get_volume () /$poscar_text[5].to_f)/(4*PI/3)
r=r_3%%(1.0/3.0)
return r

end

def set_newPOSCAR()
system("cp A1_POSCAR POSCAR")
text = []
file =File.open("POSCAR","r")
file.each do |f|
text << £
end
$poscar_text = text
$init_vals = []

$init_vals << get_distance/(get_volumex**(1.0/3.0))*$d_max
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end

def read_POSCAR()
text = []
file =File.open("POSCAR","r")
file.each do |f|
text << £
end
return text
end

set_newP0OSCAR()

def make_newPOSCAR
pos = []
text = read_POSCAR()
$n_multi.times do
aj=rand(text[5])+1+6 #0000 OO
pos=text[aj].split(nil)
for i in 0..2
rnd=2.0*rand()-1.0
dd=rnd*$init_vals[0] #0 0000000 0ODOODOOO
pos[il=pos[i].to_f+dd #0 OO OO OO
if pos[i] > 1.0 then
pos[il=pos[i] .to_£f-1.0
elsif pos[i] < 0.0 then
pos[il=pos[i] .to_£f+1.0
end
end
text[aj]=sprintf ("%16.9f %19.9f %19.9f\n",pos[0],pos[1],pos[2]) #aj
UtextJOO
end
output_poscar = File.open("new_POSCAR","w") #new_POSCARL U [J
O
output_poscar.write(text)
output_poscar.close

end

def get_str_OUTCAR(x) #0UTCARO D DO OODOODOOO
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outcar=[]
iter=0
number=0
File.open("OUTCAR") .each do |linel|
outcar.push(linel)
iter+=1
if Regexp.new(x) =" linel
number = iter
end
end
outcar.slice! (0, number)
return outcar

end

def get_energy OUTCAR #OUTCARU U DU OUOUOOOOOU
outcar=get_str_OUTCAR("ION-ELECTRON")
return outcar[1].split(" ") [4].to_f

end

def Energy #POSCARU U DO ODOOOO
system("rm -rf OQUTCAR")
system("ruby pseudoVASP.rb POSCAR > OUTCAR")
return get_energy_OUTCAR()

end

energy_before = Energy()

n_max.times do |il
if i%(n_max/10)==0 then printf(".") end
make_newPOSCAR() #new_POSCAR [ [J
system("cp POSCAR sub_POSCAR")
system("cp new_POSCAR POSCAR")
energy_new = Energy()

#0000000000000

dE = energy_new - energy_before
if dE<=0 then
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n_arng << energy_new
energy_before = energy_new
elsif dE>0 then
prb = exp(-dE/T)
rnd = rand() #0..1 floatO O[O
if rnd<prb then
n_arng << energy_new
energy_before = energy_new
else
system("cp sub_POSCAR POSCAR")
end
end
end
printf("\n OO0 :%10.5f\n" ,n_arng.length/n_max.to_f)

File.open("e_change.txt","w"){|filel
n_arng.each do |tmp]
file.puts(tmp)
end
}
stop=Time.now #U U U U
printf("\n OOODO (sec):%10.5f\n", stop-start)

6.1.2 NPT-MC

NPT-MCOODOOOO

\begin{enumerate}

\item -*- coding: utf-8 -*-
\end{enumerate}

include Math

require "pp"

puts "OOOOOOOOOOOO"
$Temp=gets.chomp.to_f
puts "OOOOOoOOoOOoOOoOOoOooOog

n_max=gets.chomp.to_1i
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puts "UOO0O0O0OoO0OOOOOOOOoOooOOobLDOobOOooooooog
$d_max=gets.chomp.to_f

puts " DO0OOO0OOOOOOOOOOOOO

$init_vals2 = gets.chomp.to_f

puts "OO0O0O0OO0oO0oOOoOoOoOoOoOooOoooog.

$n_multi=4

start = Time.now #U 0O OO

n_arng = []

def get_str_OUTCAR(x) #0UTCARO OO OOODODOOO
outcar=[]
iter=0
number=0
File.open("OUTCAR") .each do |linel|

outcar.push(linel)

iter+=1
if Regexp.new(x) =" linel
number = iter
end
end

outcar.slice! (0, number)
return outcar

end

def get_force

£=]

posi_f=get_str_OUTCAR("TOTAL-FORCE")

for i in 0..$poscar_text[5].to_f-1 do
f_pre=[0.0,0.0,0.0]
f_pre[0]=posi_f[i].split(" ") [3].to_f
f_prel[1]=posi_f[i].split(" ") [4].to_f
f_pre[2]=posi_f[i].split(" ") [5].to_f
f << f_pre

end

return f

end
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def set_r
r=[]
for i in 0..$poscar_text[5].to_f-1 do
r_one=[0.0,0.0,0.0]
pos=$poscar_text [i+7] .split(nil)
for j in 0..2 do
r_one[jl=pos[j].to_£f-0.5000
if r_onel[j] < O
r_one[jl=-r_one[j]
end
end
r << r_one
end
return r

end

def virial #Virial OO 0O

a=0.0
for i in 0..$poscar_text[5].to_f - 1 do
r=set_r ()

f=get_force()
for pin 0 ..2 do
at+=r[i] [p]*£f [i] [p]
end
end
return w=a/3

end

def get_volume
vec_a = []
vec_b = []
vec_c = []

vec_a=$poscar_text[2] .split(nil) #0000 00O
vec_b=$poscar_text[3] .split(nil)
vec_c=$poscar_text[4] .split(nil)

a_x = vec_al[0].to_f

a_y = vec_al[l] .to_f

a_z = vec_al[2] .to_f
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b_x = vec_b[0].to_f
b_y = vec_b[1].to_f
b_z = vec_b[2] .to_f

c_x = vec_c[0] .to_f
c_y = vec_c[1].to_f
c_z = vec_c[2].to_f
volume=(a_x*b_y*c_z)+(a_y*b_z*xc_x)+(a_z*b_x*c_y)
—-(a_x*b_z*c_y)-(a_y*b_x*c_z) - (a_z*b_y*c_x)
return volume
end

def get_distance #J U U D DUOUOUOOOODDOOOON
r_3=(get_volume () /$poscar_text[5].to_f)/(4*PI/3)
r=r_3%%(1.0/3.0)
return r

end

def set_newPOSCAR()

system("cp A1_POSCAR POSCAR")

text = []

file =File.open("POSCAR","r")

file.each do |f|

text << £

end

$poscar_text = text

$init_vals = get_distance/(get_volumex*(1.0/3.0))*$d_max
end

def read_POSCAR()
text = []
file =File.open("POSCAR","r")
file.each do |f|
text << £
end
return text
end

set_newPOSCAR()
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def make_newPOSCAR
pos = []
text = read_POSCARQ)
$n_multi.times do
aj=rand(text[5])+1+6 #0000 00O
pos=text[aj].split(nil)
for i in 0..2
rnd=2.0*rand()-1.0
dd=rnd*$init_vals #0 0000 000O00O0O0OO0OO
pos[il=pos[i].to_f+dd #0 OO OO OO
if pos[i] > 1.0 then
pos[i]=pos[i].to_f-1.0
elsif pos[i] < 0.0 then
pos[i]=pos[i].to_f+1.0
end
end
text[ajl=sprintf ("%16.9f %19.9f %19.9f\n",pos[0],pos[1],pos[2]) #aj
Otextd OO
end
output_poscar = File.open("new_POSCAR","w") #new_POSCARL U [J
0
output_poscar.write(text)
output_poscar.close

end

def make_newPOSCAR2
text = read_POSCAR()
rnd=2.0*rand()-1.0
dd=1.0+rnd*$init_vals2 #0 0000 0O00O0O00O0OOOO
pp dd
for j in 0..$poscar_text[5].to_i-1 do
aj=j+i+6 #0000 00O
pos=text[aj].split(nil)
for i in 0..2
pos[il=pos[i].to_fxdd #0 OO OO OO
if pos[i] > 1.0*dd then
pos[il=pos[i] .to_f-1.0%dd
elsif pos[i] < 0.0 then
pos[il=pos[i] .to_£f+1.0%*dd
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end
end
text[ajl=sprintf ("%16.9f %19.9f %19.9f\n",pos[0],pos[1],pos[2]) #aj
O textd OO
end
output_poscar = File.open("new_POSCAR","w") #new_POSCARLI [
0
output_poscar.write(text)
output_poscar.close

end

def get_energy_OUTCAR #0QUTCARU U U UODOOUODOOOOO
outcar=get_str_0UTCAR("ION-ELECTRON")
return outcar[1].split(" ") [4].to_f

end

def Energy #POSCARU DU U OOOOU
system("rm -rf OQUTCAR")
system("ruby pseudoVASP.rb POSCAR > QUTCAR")
return get_energy_OUTCAR()

end

def Rho #POSCARU U rho 0
system("rm -rf OQUTCAR")
system("ruby pseudoVASP.rb POSCAR > OUTCAR")
w=virial()
n=32.0
pv=n*$Temp+w
rho = pv+Energy()
print w.to_s+","+rho.to_s+"\n"
return get_energy_OUTCAR()
end

energy_before = Rho()
n_max.times do |il
if i%(n_max/10)==0 then printf(".") end

make_newP0OSCAR() #new_POSCARO O O0O0O0O
make_newP0OSCAR2() #new_POSCARO O OO0OO
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system("cp POSCAR sub_POSCAR")
system("cp new_POSCAR POSCAR")
energy_new = Rho()

#Uuouboooogobon
dE = energy_new - energy_before
if dE<=0 then
n_arng << energy_new
energy_before = energy_new
elsif dE>0 then
exp (-dE/$Temp)
rnd = rand() #0..1 floatU O[O
if rnd<prb then
n_arng << energy_new

prb

energy_before = energy_new
else
system("cp sub_POSCAR POSCAR")
end
end
end
printf("\n OO0 :%10.5f\n" ,n_arng.length/n_max.to_f)

File.open("e_change.txt","w"){|filel
n_arng.each do [tmp]
file.puts(tmp)
end

stop=Time.now #0000
printf("\n OO OO (sec):%10.5f\n", stop-start)
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HRERERE

1] 00000D0D0O0O0O0O0000(0000D02006) pp.109-115.
2] 0000000000 0ODOOO00O00O0O0OOOO000O0 19970pp.107-111.

B3] D0 D0OOpseudoVASPOOODOODODOOODOOOOOO 2012000000,
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